
ATV Fitment Chart

Model No Part No. Description

CanAm

DS450 20-1700 Anti-Roll/Sway Bar Kit-univ

20-1168p Axle CanAm DS450 '08-09 Elim +4"

20-2168ex Axle CanAm DS450 '08-09 X-33 w/billet hubs

8705 Filter-Power Air-CanAm DS450 '08-09

652sp Hub Sprocket CanAm DS450 '08-alum (fits Durablue axles only)

20-1033bc Hubs Rear Wheel  CanAm DS450 '08-9 4x110-X33 axle-billet-pr

4144fc SpacersEZ 4x144mm CanAm 450 '08 (f)-1.5" -pr

4110fc SpacersEZ 4x110mm CanAm 450 (r)-1.5" -pr

ws4110fc Spacers Alum 4x110mm CanAm DS450 (r)-1.5" EZ style -pr

DS650 20-1700 Anti-Roll/Sway Bar Kit-univ

20-1165p Axle CanAm DS650 '00-'03 Elim

8701 Filter-Power Air CanAm DS650-stock replacement type

650sp Hub Sprocket CanAm DS650
20-1637 Posi*Lock CanAm alum/balanced-3 pc

4143f EZ Fit Wheel Spacer DS650 '00-'03 (f&r)

DS650/Baja X 20-1700 Anti-Roll/Sway Bar Kit-univ

20-1166p Axle CanAm DS650/BajaX 04-07 Elim

8701 Filter-Power Air CanAm DS650-stock replacement type

20-1637 Posi*Lock CanAm alum/balanced-3 pc

4137f Fit Wheel Spacer DS650/BajaX 04-07 (f&r)

Honda

This chart features Durablue products which will fit your application 



TRX250R hah-b Axle Housing Hon trx250r

20-1700 Anti-Roll/Sway Bar Kit-univ

20-1600 Anti-fade Brake Hon trx250r '86-89

20-1151sp Axle Hon trx250r '86-89 Elim

20-1151 Axle Hon trx250r '86-89 HD

20-2151ex Axle Hon trx250r X-33-billet

20-1151ex Axle Hon trx250r X-33-cast

1102 Filter Power Air Hon-trx250r '86-89-stock replacement type

86sp Hub Sprocket Hon trx250r

86sps Hub Sprocket Hon steel 86sp

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr

20-1331 Hubs Rear Wheel 4x110mm-pr

20-1331x Hubs Rear Wheel 4x110mm extended+1"-pr

1331/115 Hubs Rear Wheel 4x115mm (Honda spline w/Yam wheel)-pr

20-1002 Lowering Kit Hon trx250r-front

das-4h Lowering Strut Hon trx250r '86-rear

das-7h Lowering Strut Hon trx250r '87-89-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1880 Nut Wheel Lug Alum 10mm taper seat-8 pc

20-1880r Nut Wheel Lug Alum 10mm taper seat-RED anodize-8 pc

20-1880bl Nut Wheel Lug Alum 10mm taper seat-BLACK anodize-8 pc

20-1880b Nut Wheel Lug Alum 10mm taper seat-BLUE anodize-8 pc

20-1880g Nut Wheel Lug Alum 10mm taper seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize



92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1627 Posi*Lock trx250r-3pc

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4110f SpacersEZ 4x110mm-1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

TRX300EX hax Axle Housing Hon trx300ex

20-1601 Anti-fade Brake Hub/Nut Assembly Hon trx300ex

20-1700 Anti-Roll/Sway Bar Kit-univ

20-1145 Axle Hon trx300ex HD

20-1145sp Axle Hon trx300ex Elim 2+2

1109 Filter-Power Air Hon-trx300ex-stock replacement type

250xsp Hub Sprocket Hon 300ex-alum (fits Durablue axles only)

250xsps Hub Sprocket Hon 300ex-steel (fits Durablue axles only)
20-1334 Hubs Rear Wheel Hon 4x110mm-trx300ex-pr

20-1334x Hubs Rear Wheel Hon 4x110mm-trx300ex-extended +1"-pr

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr
1334/115 Hubs Rear Wheel Hon 4x115mm-trx300ex (Honda spline w/Yam wheel)-pr

20-1004 Lowering Kit Hon trx300ex-front
20-1005 Lowering Kit Hon trx300ex-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc



20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1880 Nut Wheel Lug Alum 10mm taper seat-8 pc

20-1880r Nut Wheel Lug Alum 10mm taper seat-RED anodize-8 pc

20-1880bl Nut Wheel Lug Alum 10mm taper seat-BLACK anodize-8 pc

20-1880b Nut Wheel Lug Alum 10mm taper seat-BLUE anodize-8 pc

20-1880g Nut Wheel Lug Alum 10mm taper seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1628 Posi*Lock Hon trx300ex (fits all)-3 pc

20-1628s Posi*Lock Hon trx300ex (fits all)-3 pc-steel

23-1030 Skid Plate Hon trx300ex Hammerforce Composite-Swingarm-ea

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4110f SpacersEZ 4x110mm-1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

TRX400EX hah-b Axle Housing Hon trx400ex

20-1700 Anti-Roll/Sway Bar Kit-univ

20-1640 Anti-fade Brake Hub Hon trx400ex

20-1159p Axle Hon trx400ex Elim

20-1159sp Axle Hon trx400ex Elim

20-1159 Axle Hon trx400ex HD

20-2159ex Axle Hon trx400ex X-33-billet

20-1159ex Axle Hon trx400ex X-33-cast

1126 Filter Power Air Hon-trx400ex-stock replacement type

86sp Hub Sprocket Hon trx400ex

86sps Hub Sprocket Hon steel 86sp

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr



20-1334 Hubs Rear Wheel 4x110mm-pr

20-1334x Hubs Rear Wheel 4x110mm extended+1"-pr

1334/115 Hubs Rear Wheel 4x115mm (Honda spline w/Yam wheel)-pr

20-1002 Lowering Kit Hon trx400ex-front

das-8h Lowering Strut Hon trx400ex-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1880 Nut Wheel Lug Alum 10mm taper seat-8 pc

20-1880r Nut Wheel Lug Alum 10mm taper seat-RED anodize-8 pc

20-1880bl Nut Wheel Lug Alum 10mm taper seat-BLACK anodize-8 pc

20-1880b Nut Wheel Lug Alum 10mm taper seat-BLUE anodize-8 pc

20-1880g Nut Wheel Lug Alum 10mm taper seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1628 Posi*Lock Hon trx400ex (fits all)-3 pc

20-1628s Posi*Lock Hon trx400ex (fits all)-3 pc-steel

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4110f SpacersEZ 4x110mm-1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear



TRX450r hah450 Axle Housing Hon trx450r

20-1700a Anti-Roll/Sway Bar Kit Hon trx450r

20-1643 Anti-fade Brake Hub Hon trx450r

20-1169p Axle Hon trx450r Elim

20-1169 Axle Hon trx450r HD

20-1169sp Axle Hon trx450r Elim2+2

20-2169ex Axle Hon trx450r X-33-billet

20-1169ex Axle Hon trx450r X-33-cast hub

450br Hub Disk Hon trx450r

1126 Filter Power Air Hon-trx450r-stock replacement type

69sp Hub Sprocket Hon 450r

69sps Hub Sprocket Hon 450r-steel

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr

20-1334 Hubs Rear Wheel 4x110mm-pr

20-1334x Hubs Rear Wheel 4x110mm extended+1"-pr

1334/115

20-1008 Lowering Kit Hon trx450r-front

das-9h Lowering Strut Hon trx450r-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1880 Nut Wheel Lug Alum 10mm taper seat-8 pc

20-1880r Nut Wheel Lug Alum 10mm taper seat-RED anodize-8 pc

20-1880bl Nut Wheel Lug Alum 10mm taper seat-BLACK anodize-8 pc

20-1880b Nut Wheel Lug Alum 10mm taper seat-BLUE anodize-8 pc

20-1880g Nut Wheel Lug Alum 10mm taper seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

Hubs Rear Wheel Hon-4x115mm-trx250x/trx250ex/trx300ex/trx400ex/trx450r (Honda spline w/Yam 
wheel)-pr



92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1628 Posi*Lock Hon trx450r (fits all)-3 pc

20-1628s Posi*Lock Hon  (fits all)-3 pc-steel

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4110f SpacersEZ 4x110mm -1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

KAWASAKI

KFX400 z400ah Axle Housing Kaw kfx400

20-1700 Anti-Roll/Sway Bar Kit-univ

20-2137ex Axle Kaw kfx400 X33-bill

20-1137ex Axle Kaw kfx400 X33-cast

20-1137sp Axle Kaw kfx400 Elim2+2

20-1137 Axle Kaw kfx400 HD

2483 Filter-Power Air Kaw kfx400-stock replacement type

z400sp Hub Disk Kaw kfx400

z400sh Hub Sprocket Kaw kfx400

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

1341/110 Hubs Rear Wheel -pr

1341/110x Hubs Rear Wheel extended +1"-pr

1341/115 Hubs Rear Wheel kfx400 4x115 (Kaw 26 spline w/Yam wheel)-pr

20-1007 Lowering Kit Kaw kfx400-front

20-1017 Lowering U-Link Kaw kfx400-rear

20-1634 Posi*Lock Kaw kfx400 (fits factory & Durablue HD axle)-1 pc

20-1636 Posi*Lock Kaw  kfx400 (fits Durablue Eliminator only)-3 pc



20-1636s Posi*Lock Kaw kfx400 (fits Durablue Elim only)-3 pc-steel

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

ws4110f Spacers Alum 4x110mm-1.5 rear

4110f SpacersEZ 4x110mm -1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

KFX450 kfx450ah Axle Housing Kaw kfx450

20-1700 Anti-Roll/Sway Bar Kit

20-1171 Axle Kaw kfx450 HD

20-1171p Axle Kaw kfx450 Elim-std

20-1171sp Axle Kaw kfx450 Elim 2+2

20-1171ex Axle Kaw kfx450 X-33 w/cast hubs



20-2171ex Axle Kaw kfx450 X-33 w/billet hubs

2332 Filter-Power Air-Kaw kfx450-stock replacement type

71br Hub Disk Kaw kfx450

71sp Hub Sprocket Kaw kfx450

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

20-1010 Lowering Kit Kaw kfx450 '08-front

20-1011 Lowering Rear Strut Kaw kfx450 U-Link non-adj

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

ws4110f Spacers Alum 4x110mm-1.5 rear

4110f SpacersEZ 4x110mm -1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear



KVF650 Prairie 20-1700 Anti-Roll/Sway Bar Kit

20-1144p Axle Kaw 650/700 Prairie std Elim * use 20-1662 or NTN 6209x18 bearing

20-1144sp Axle Kaw 650/700 Prairie Elim 2+2 * use 20-1662 or NTN 6209x18 bearing

20-2144ex Axle Kaw 650/700 Prairie X33 w/billet hubs * use 20-1662 or NTN 6209x18 bearing

2393 Filter Power Air Kaw-Prairie 650-stock replacement type

20-1037b Hubs Rear Wheel Kaw 4x137-X33 axle-billet-pr

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

4137f SpacersEZ 4x137mm-1.5 -pr (f&r)

4137 SpacersEZ 4x137mm-2.5 -pr (f&r)

KFX 700 V-Force 20-1700 Anti-Roll/Sway Bar Kit

20-1144sp Axle Kaw 700/Vforc Elim2+2

20-1144p Axle Kaw 700/Vforce Elim

20-2144ex Axle Kaw 700/Vfrc X33-billet

2393 Filter-Power Air Kaw kfx700-stock replacement type



20-1037b Hubs Hon 4x137-X33 axle-billet-pr

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

4144f SpacersEZ 4x144mm-1.5 front

4137f SpacersEZ 4x137mm-1.5 -pr rear

4137 SpacersEZ 4x137mm-2.5 -pr rear

KTM

KTM 450XC/525XC 20-1700k Anti-Roll/Sway Bar Kit KTM 450XC/525XC '08-09

20-2164ex Axle KTM 450xc/525xc '08-09 Elim X-33 w/billet hubs

20-1164p Axle KTM 450xc/525xc '08-09 Elim+2

1415 Filter-Power Air KTM 450XC '09/450SX '09/505SX '09/525XC '08-09

1350/110k Hubs Rear Wheel KTM 450XC/525XC '08-09 4x110mm-pr

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet-pr

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc



20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

ws4110f Spacers Alum 4x110mm-1.5 rear

4110f SpacersEZ 4x110mm -1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

POLARIS

Predator 90 20-1700 Anti-Roll/Sway Bar Kit-univ

20-3090sp Axle Polaris Pred 90 Elim+4

8508 Filter Power Air Pred 90-stock replacement type

20-0014 Nut Axle Hub - 14mm-ea

gl110fac SpacersGL 4x110 A-Cat/Pol Predator 90-1.5"-pr

gl110ac SpacersGL 4x110 A-Cat/Pol Predator 90-2.5"-pr

Predator 500 20-1700 Anti-Roll/Sway Bar Kit-univ

20-1163p Axle Polaris Pred 500 Elim

8506 Filter-Power Air Predator 500-stock replacement type



1350/110p Hubs Rear Wheel Polaris Predator 500 4x110mm (Polaris 23 sp w/Honda wheel)-pr

20-0750 Nut Axle Hub - 3/4-16 Pol-ea

4156p SpacersEZ 4x156mm Polaris-1.5 front

gl156f SpacersGL 4x156mm Polaris-1.5 front

4156pw SpacersEZ 4x156mm Polaris Pred 500 '03-2.5 rear

gl156 SpacersGL 4x156mm Polaris Pred 500 '03-2.5 rear

4110p SpacersEZ 4x110mm Pol Pred 500 '04-07-2.5 rear

Scrambler 500 20-1700 Anti-Roll/Sway Bar Kit-univ

8503 Filter-Power Air Scambler 500-stock replacement type

1350/110 Hubs Rear Wheel Polaris (not Predator) 4x110mm (Polaris 23 sp w/Honda wheel)-pr

20-1350 Hubs Rear Wheel Polaris 4x101mm 23 sp-pr

20-0750 Nut Axle Hub - 3/4-16 Pol-ea

20-1645 Posi*Lock Polaris Scrambler 500-pr

4156p SpacersEZ 4x156mm Polaris-1.5 front

gl156f SpacersGL 4x156mm Polaris-1.5 front

gl101 SpacersGL 4x101mm Polaris-2.5 rear

gl101f SpacersGL 4x101mm Polaris-1.5 rear

Polaris Outlaw IRS/S 500/525
20-1801 Stability Kit-Front Sway Bar and Wheel Spacers

8512 Filter-Power Air Pol Outlaw 500/525-stock replacement type

4156p SpacersEZ 4x156mm Polaris-1.5 front

4110p SpacersEZ 4x110mm Pol-2.5 rear

20-1163p Axle Polaris Pred 500 '03-07/Outlaw 525s Elim+2

20-0750 Nut Axle Hub - 3/4-16 Pol-ea
20-1351 Hubs Rear Wheel Polaris Outlaw 525s; includes 20-1881 lug nuts-pr

SUZUKI

LT-80 20-1700 Anti-Roll/Sway Bar Kit-univ

20-1133sp Axle Suz Qspt/Z 80 Elim+3

2471 Filter-Power Air Suz-lt80-stock replacement type

3120 SpacersEZ 3x120mm Suz-2.5 -pr rear

gl315 SpacersGL 3x120mm Suz 80-2.5 rear



LT-250R Quadracer 20-1700 Anti-Roll/Sway Bar Kit-univ

20-1132p Axle Suz Q-rcr 250 '85-87 Elim

20-1132ex Axle Suz Q-rcr 250 '85-92 X33

20-1134sp Axle Suz Q-rcr 250 '88-92 Elim

20-1134 Axle Suz Q-rcr 250 '88-92 HD

qr250sp Hub Disk Suz Q-racer '85-95

20-1339 Hubs Rear Wheel Suz 230/250 4x130mm-24 spline

20-5130 Hubs Rear Wheel Suz 250/500 5x130mm-26 sp

20-1533 Hubs Rear Wheel Suz 5x130mm-X33 axle-pr

1341/110 Hubs Rear Wheel Suz Qracer 250 '88-92 (Suz 26 spline w/Honda wheel)-pr

1341/110x Hubs Rear Wheel Suz Qracer 250 '88-92 (Suz 26 spline w/Honda wheel) extended +1"-pr

1341/115 Hubs Rear Wheel Suz Qracer 250 '88-92 4x115 (Suz 26 spline w/Yam wheel)-pr

20-1003 Lowering Kit Suz Qracer250 '87-95-front

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea '85-87

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc '85-87

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc '85-87

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc '85-87

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc '85-87

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc '85-87

20-0020 Nut Axle Hub - 20mm-ea '88-92

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc '88-92

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc '88-92

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc '88-92

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc '88-92

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc '88-92

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc



92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1634 Posi*Lock Suz Qrcr 250 '85-92 (fits factory & Durablue HD axle)-1 pc

20-1636 Posi*Lock Suz Qrcr 250 '85-92 (fits Durablue Eliminator only)-3 pc

gl166 SpacersGL 4x166mm Suz-1.5 front

4130 SpacersEZ 4x130mm-2.5 '85-86 rear

gl130 SpacersGL 4x130mm-2.5 '85-86 rear

5130 SpacersEZ 5x130mm-2.5 '87-92 rear

gl5130q SpacersGL 5x130mm-2.5 '87-92 rear

LT-Z400-pre '09 z400ah AHsg Suz Z400/Kaw kfx400/Acat

20-1700 Anti-Roll/Sway Bar Kit-univ

20-2137ex Axle Suz Z400 X33-billet wheel hubs

20-1137ex Axle Suz Z400 X33-cast wheel hubs

20-1137sp Axle Suz Z400 Elim2+2

20-1137 Axle Suz Z400 HD

2483 Filter-Power Air Suz Z400-stock replacement type

z400sp Hub Disk Suz Z400

z400sh Hub Sprocket Suz Z400

1341/110 Hubs Rear Wheel Suz Z400

1341/115 Hubs Rear Wheel Suz Z400-4x115 (Suz with Yam wheel)

1341/110x Hubs Rear Wheel SuzZ400 extended+1"-pr

20-1007 Lowering Kit Suz Z400-front

20-1017 Lowering U-Link Lowering Kit Suz Z400-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc



20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1634 Posi*Lock Suz Z400 oem (stock axle)

20-1636 Posi*Lock Yam Z400 fits Elim/x33 axle only-3pc

20-1636s Posi*Lock Yam Z400 fits Elim/x33 axle only-3pc-steel

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4110f SpacersEZ 4x110mm-1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

LT-Z400-'09-later z400ah AHsg Suz Z400/Kaw kfx400/Acat

20-1700s Anti-Roll/Sway Bar Kit Suz lt-r450 '06-09

20-1157 Axle Suz lt-z400 '09 HD

20-1157sp Axle Suz lt-z400 '09 Elim 2-2

20-2157ex Axle Suz lt-z400 '09 X-33 w/billet hubs

20-1157ex Axle Suz lt-z400 '09 X-33 w/cast hubs

2483 Filter-Power Air Suz lt-z400 '03-09

57br Hub Disk Suz Z400

57sp Hub Sprocket Suz Z400

20-1337 Hubs Rear Wheel Suz lt-r450-4x110mm-pr

20-1337x Hubs Rear Wheel Suz lt-z400 '09/lt-r450 '06-09 4x110mm-26sp-extended+1"-pr

20-1007 Lowering Kit Suz lt-z400 '09

20-1027 Lowering Rear Strut Suz lt-z 400 '09 U-Link non-adj



20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1644 Posi*Lock Suz lt-r450 '06-08/lt-z400 '09 (fits all)-3 pc

20-1644s Posi*Lock Suz lt-r450 '06-08/lt-z400 '09 (fits all)-3 pc-steel

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear

4110f SpacersEZ 4x110mm-1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

LT-R450 qr450ah Axle Housing Suz lt-r450

20-1700s Anti-Roll/Sway Bar Kit Suz lt-r450

20-1126sp Axle Suz lt-r450 Elim 2-2

20-1126ex Axle Suz lt-r450 X33 w/cast hubs

20-2126ex Axle Suz lt-r450 X-33 w/billet hubs



2489 Filter-Power Air Suz lt-r450-stock replacement type

qr450br Hub Disk Suz lt-r450

qr450sp Hub Sprocket Suz lt-r450

20-1033 Hubs Rear Wheel 4x110mm-X33 axle-pr

20-1033b Hubs Rear Wheel  4x110-X33 axle-billet

20-1337 Hubs Rear Wheel Suz lt-r450-4x110mm-pr

20-1337x Hubs Rear Wheel Suz lt-z400 '09/lt-r450 '06-09 4x110mm-26sp-extended+1"-pr

20-1015 Lowering Kit Suz lt-r450-front

20-1018 Lowering Rear Strut Suz lt-r450 U-Link non-adj

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1644 Posi*Lock Suz lt-r450 (fits stock & Durablue axles)-3 pc

20-1644s Posi*Lock Suz lt-r450 (fits Stock & Durablue axles)-3 pc-steel

4144f SpacersEZ 4x144mm-1.5 front

gl145f SpacersGL 4x144mm-1.5 front

4110 SpacersEZ 4x110mm-2.5 rear

gl110 SpacersGL 4x110mm-2.5 rear



4110f SpacersEZ 4x110mm-1.5 rear

ws4110f Spacers Alum 4x110mm-1.5 rear

gl110f SpacersGL 4x110mm-1.5 rear

LT-500R 20-1700 Anti-Roll/Sway Bar Kit

20-1140sp Axle Suz Q-rcr 500 Elim

20-5130 Hubs Suz 250/500 5x130mm-26 sp

1341/110 Hubs Rear Wheel Suz 500 (Suz 26 spline w/Honda wheel)-pr

1341/110x Hubs Rear Wheel Suz 500 (Suz 26 spline w/Honda wheel) extended +1"-pr

1341/115 Hubs Rear Wheel Suz 500 4x115 (Suz 26 spline w/Yam wheel)-pr

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-0020 Nut Axle Hub - 20mm-ea

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

gl166 SpacersGL 4x166mm Suz-1.5 front

5130 SpacersEZ 5x130mm-2.5  rear

gl5130q SpacersGL 5x130mm-2.5 rear



YAMAHA
Note; all Yamaha Durablue axles use 7/8" end nuts, stock nut size also listed

YFS200 Blaster 20-1700 Anti-Roll/Sway Bar Kit

20-2142ex Axle Yam Blaster X33-billet wheel hubs 4x115mm wheels required

20-1142ex Axle Yam Blaster X33-cast wheel hubs 4x115mm wheels required

20-1153 Axle Yam Blaster HD

3225 Filter-Power Air Yam-Blaster-stock replacement type

20-1343b Hubs Rear Wheel Yam 4x115mm-X33 axle-billet-pr (must change wheels)

20-1343 Hubs Rear Wheel Yam 4x115mm-X33 axle-cast-pr (must change wheels)

20-1021 Lowering Kit Yam Blaster-front

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize



92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1632 Posi*Lock Yam Blaster oem (stock and Durablue HD axle)

20-1635 Posi*Lock Yam Blaster (fits Durablue Eliminator only)-3 pc

20-1635s Posi*Lock Yam Blaster (fits Durablue Eliminator only)-3 pc-steel

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4100 SpacersEZ 4x100mm-2.5 rear

250 Raptor 20-1700 Anti-Roll/Sway Bar Kit

20-1156 Axle Yam Rap250 std HD

20-1156sp Axle Yam Rap250 Elim 2+2

20-1156ex Axle Yam Rap250 x-33 w/cast hubs

20-2156ex Axle Yam Rap250 x-33 w/billet hubs

3213 Filter-Power Air Yam-Rap250-stock replacement type

27br Hub Disk Yam Rap250-alum (fits all)

27sp Hub Sprocket Yam Rap250-alum (fits all)

1340/110 Hubs Rear Wheel Yam Rap250 4x110 (Yam axle, Honda wheel)

20-1340 Hubs Rear Wheel Yam Rap250

20-1340x Hubs Rear Wheel Yam Rap250 extended+1"-pr

20-1343b Hubs Rear Wheel Yam Rap250 4x115mm-X33 axle-billet

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1343 Hubs Rear Wheel Yam Rap250 4x115mm-X33 axle-cast

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-0014 Nut Axle Hub - 14mm-ea (stock axles)

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc



20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1635 Posi*Lock Yam Rap250 (fits Durablue Eliminator only)-3 pc

20-1635s Posi*Lock Yam Rap250 (fits Durablue Eliminator only)-3 pc-steel

20-1639 Posi*Lock Yam Rap250 (fits factory & Durablue HD axle)-1 pc

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4115 SpacersEZ 4x115mm-2.5 rear

gl115 SpacersGL 4x115mm-2.5 rear

YFM350 Warrior wah Axle Housing Yam War

20-1700 Anti-Roll/Sway Bar Kit

20-1141sp Axle Yam War 350 Elim

20-1141 Axle Yam War 350 std HD

20-2141ex Axle Yam War 350 X33-billet wheel hubs

20-1141ex Axle Yam War 350 X33-cast wheel hubs

1975pl Filter-Power Air Yam-War plate-fits 1975k kit

1975 Filter-Power Air Yam War-fits 1975k kit

1975k Filter-Power Air Yam-War filter kit (clamp-on filter and mounting plate)

1295 Filter-Power Air Yam War-stock replacement type

1340/110 Hubs Rear Wheel Yam War 4x110 (Yam using Honda wheel)

20-1340x Hubs Rear Wheel Yam War extended+1"-pr

20-1340 Hubs Rear Wheel Yam War

20-1343 Hubs Rear Wheel Yam War 4x115mm-X33 axle-cast-pr

20-1343b Hubs Rear Wheel Yam War 4x115mm-X33 axle-bil

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc



20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1633 Posi*Lock Yam War oem (stock and Durablue HD axle)

20-1636 Posi*Lock Yam War (fits Durablue Eliminator only)-3 pc

20-1636s Posi*Lock Yam War (fits Durablue Eliminator only)-3 pc-steel

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4115 SpacersEZ 4x115mm-2.5 rear

gl115 SpacersGL 4x115mm-2.5 rear

YFZ350 Raptor 27ah Axle Housingg Yam Rap350

20-1700 Anti-Roll/Sway Bar Kit

20-1127 Axle Yam Rap350 std HD

20-1127sp Axle Yam Rap350 Elim 2+2



20-1127p Axle Yam Rap350 std Elim

20-2127ex Axle Yam Rap350 X33-billet hub

20-1127ex Axle Yam Rap350 X33-cast hub

1975pl Filter-Power Air Yam-War Plate-1975k

1975 Filter-Power Air Yam-Rap350-1975k

1975k Filter-Power Air Yam-Rap350-filter kit (clamp-on filter and mounting plate)

1295 Filter-Power Air Yam-Rap350 stock replacement filter

27br Hub Disk Yam Rap350

27sp Hub Sprocket Yam Rap350

1340/110 Hubs Rear Wheel Yam Rap350 4x110 (Yam axle, Honda wheel)

20-1340 Hubs Rear Wheel Yam Rap350

20-1340x Hubs Rear Wheel Yam Rap350 extended+1"-pr

20-1343b Hubs Rear Wheel Yam Rap350 4x115mm-X33 axle-billet

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1343 Hubs Rear Wheel Yam Rap350 4x115mm-X33 axle-cast

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc



20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1635 Posi*Lock Yam Rap350 (fits Durablue Eliminator only)-3 pc

20-1635s Posi*Lock Yam Rap350 (fits Durablue Eliminator only)-3 pc-steel

20-1639 Posi*Lock Yam Rap350 (fits factory & Durablue HD axle)-1 pc

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4115 SpacersEZ 4x115mm-2.5 rear

gl115 SpacersGL 4x115mm-2.5 rear

YFZ350 Banshee bah Axle Housing Yam Ban350

20-1700 Anti-Roll/Sway Bar Kit

20-1142p Axle Yam Ban350 std Elim

20-1142 Axle Yam Ban350 HD

20-1142sp Axle Yam Ban350 Elim

20-2142ex Axle Yam Ban350 X33-billet wheel hubs

20-1142ex Axle Yam Ban350 X33-cast wheel hubs

1965pl Filter Yam-Ban Plate-1965k

1965pf Filter-Power Air Yam-Ban350 Prefilter-1965k

1297 Filter-Power Air Yam-Banshee 350-stock replacement type

1965 Filter-Power Air Yam-Ban350 1965k replacement filter

1965k Filter-Power Air Yam-Ban350 (clamp-on filter and mounting plate)

350br Hub Disk Yam Banshee350

350bsp Hub Sprocket Yam Ban350

1340/110 Hubs Rear Wheel Yam Ban350 4x110 (Yam axle, Honda wheel)

20-1340x Hubs Rear Wheel Yam Ban350 extended+1"-pr

20-1340 Hubs Rear Wheel Yam Ban350

20-1343b Hubs Rear Wheel Yam Ban350 4x115mm-X33 axle-billet

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1343 Hubs Rear Wheel Yam Ban350 4x115mm-X33 axle-cast

20-1006 Lowering Kit Yam Ban350-front

das-y Lowering Strut Yam Ban350-rear



20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1632 Posi*Lock Yam Ban/Blst (stock and non-Durablue Elim axles)

20-1635 Posi*Lock Yam Ban350 (fits Durablue Eliminator only)-3 pc

20-1635s Posi*Lock Yam Ban350 (fits Durablue Eliminator only)-3 pc-steel

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4115 SpacersEZ 4x115mm-2.5 rear

gl115 SpacersGL 4x115mm-2.5 rear

gl155 SpacersGL 4x156mm-2.5 rear-early model

4156 SpacersEZ 4x156mm-2.5 rear-early model



YFZ450 yah Axle Housing Yam yfz450 '04-05-ball

yah450 Axle Housing Yam yfz450 '06-08 ball

20-1700y Anti-Roll/Sway Bar Kit yfz450

20-1128 Axle Yam yfz450 std HD

20-1128sp Axle Yam yfz450 Elim 2+2

20-1128p Axle Yam yfz450 std Elim

20-2128ex Axle Yam yfz450 X33-billet hub

20-1128ex Axle Yam yfz450 X33-cast hub

1995 Filter-Power Air Yam yfz450-for 1995k kit

1995k Filter -Power Air Yam yfz450-kit (clamp-on filter and mounting plate)

3252 Filter-Power Air Yam yfz450-stock replacement filter

1995pl Filter-Power Air Yam yfz450 Plate-for 1995k

20-1650 Hardware C-Clip-Yam yfz450

28br Hub Disk Yam yfz450

28sp Hub Sprocket Yam yfz450

20-1340 Hubs Rear Wheel Yam yfz450

20-1343b Hubs Rear Wheel Yam yfz450 4x115mm-X33 axle-billet

20-1343 Hubs Rear Wheel Yam yfz450 4x115mm-X33 axle-cast

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

1340/110 Hubs Rear Wheel-Yam yfz450 4x110 (Yam axle w/Honda wheel)-pr

20-1340 Hubs Rear Wheel Yam yfz450-pr

20-1340x Hubs Rear Wheel Yam yfz450 extended +1"-pr

20-1009 Lowering Kit Yam yfz450-front

20-1019 Lowering U-Link Yam yfz450-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc



20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1651 Posi*Lock Yam yfz450 (fits Durablue Eliminator only)-3 pc

20-1651s Posi*Lock Yam yfz450 (fits Durablue Eliminator only)-3 pc-steel

20-1641 Posi*Lock Yam yfz450 (fits factory & Durablue HD axle)-1 pc

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4115 SpacersEZ 4x115mm-2.5 rear

gl115 SpacersGL 4x115mm-2.5 rear

YFZ450r yah450 Axle Housing Yam yfz450 '06-08 ball

20-1700y Anti-Roll/Sway Bar Kit yfz450

20-1172sp Axle Yam yfz450r '09 Elim 2-2

20-1172ex Axle Yam yfz450r '09 Elim-X33 w/cast hubs

20-2172ex Axle Yam yfz450r '09 Elim X-33 w/billet hubs

72br Hub Disk Yam yfz450r '09-alum (fits all)

20-1340 Hubs Rear Wheel Yam yfz450

20-1343b Hubs Rear Wheel Yam yfz450 4x115mm-X33 axle-billet

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1343 Hubs Rear Wheel Yam yfz450 4x115mm-X33 axle-cast

1340/110 Hubs Rear Wheel-Yam yfz450 4x110 (Yam axle w/Honda wheel)-pr

20-1340 Hubs Rear Wheel Yam yfz450-pr



20-1340x Hubs Rear Wheel Yam yfz450 extended +1"-pr

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

72sp Hub Sprocket Yam yfz450r '09-alum (fits all)

20-1013 Lowering Kit Yam yfz450r '09-front

20-1020 Lowering Rear Strut Yam yfz450r '09 U-Link non-adj

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1654 Posi*Lock Yam yfz450r '09 (fits Durablue Elim only)-3 pc

20-1654s Posi*Lock Yam yfz450r '09 (fits Durablue Elim only)-3 pc-steel

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

4115 SpacersEZ 4x115mm-2.5 rear



gl115 SpacersGL 4x115mm-2.5 rear

YFM660 Raptor rah Axle Housing Yam Rap660

20-1700y Anti-Roll/Sway Bar Kit Rap660

20-1142 Axle Yam Rap660+2 HD

20-1142p Axle Yam Rap660+2 Elim

20-1142sp Axle Yam Rap660 Elim 2+2

20-2142ex Axle Yam Rap660 X33-billet wheel hubs

20-1142ex Axle Yam Rap660 X33-cast wheel hubs

20-1153 Axle Yam Rap660 std HD

20-1153p Axle Yam Rap660 Elim

1985 Filter-Power Air Yam-Rap660-1985k

1985k Filter-Power Air Yam-Rap660-kit (clamp-on filter and mounting plate)

1985pl Filter-Power Air Yam-Rap660 Plate-1985

1966 Filter-Power Air Yam-Rap660/Griz660-stock replacement type

660br Hub Disk Yam Rap660

660rsp Hub Sprocket Yam Rap660

20-1907 Hubs Front Yam Raptor 660 (use stock bearings and seals or 2 #27-1068 kits)-pr

20-1340 Hubs Rear Wheel Yam Rap660 -pr

20-1340x Hubs Rear Wheel Yam Rap660 extended +1"-pr

20-1343b Hubs Rear Wheel Yam Rap660 4x115mm-X33 axle-billet

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1343 Hubs Rear Wheel Yam Rap660 4x115mm-X33 axle-cast

20-1066 Lowering Kit Yam Rap660-front

das-r Lowering Strut Yam Rap660-rear

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc



20-0018 Nut Axle Hub - 18mm-ea

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1639 Posi*Lock Yam Rap660 (fits factory & Durablue HD axle)-1 pc

20-1635 Posi*Lock Yam Rap660 (fits Durablue Eliminator only)-3 pc

20-1635s Posi*Lock Yam Rap660 (fits Durablue Eliminator only)-3 pc-steel

4115 SpacersEZ 4x115mm-2.5 rear

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

gl115 SpacersGL 4x115mm-2.5 rear

YFM700 Raptor
rah700 Axle Housing Yam Rap700

20-1700r Anti-Roll/Sway Bar Kit Rap700

20-1154p Axle Yam Rap700 Elim

20-1154sp Axle Yam Rap700 Elim 2+2

20-1154ex Axle Yam Rap700 X33-cast

20-2154ex Axle Yam Rap700 X33-billet

1955 Filter-Power Air Yam Rap700 replacement filter only (1955k kit)

1955k Filter-Power Air Yam Rap700-kit (clamp-on filter and mounting plate)

1955pl Filter-Power Air Yam-Rap700 mounting plate only (use 1955 filter)

3256 Filter-Power Air Yam-Rap700-stock replacement type

54br Hub Disk Yam Rap700

28sp Hub Sprocket Yam Raptor 700-ea



20-1343b Hubs Rear Wheel Yam yfz450 4x115mm-X33 axle-billet

20-1343bh Hubs Rear Wheel Yam 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr

20-1343 Hubs Rear Wheel Yam Rap660 4x115mm-X33 axle-cast

1340/110 Hubs Rear Wheel-Yam Rap700 4x110 (Yam spline w/Honda wheel)-pr

20-1340 Hubs Rear Wheel Yam Rap700-pr

20-1340x Hubs Rear Wheel Yam Rap700 extended +1"-pr

20-1070 Lowering Kit Yam Raptor 700-front

das-r Lowering Rear Strut Yam Rap700-adjustable*see 27-1096 for bearing/seal kit

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc

20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc

20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc

92-1001 Parking Brake Block-Off Plate

92-1001bl Parking Brake Block-Off Plate-BLACK anodize

92-1001b Parking Brake Block-Off Plate-BLUE anodize

92-1001g Parking Brake Block-Off Plate-GOLD anodize

92-1001r Parking Brake Block-Off Plate-RED anodize

20-1641 Posi*Lock Yam Rap700 (fits factory & Durablue HD axle)-1 pc

20-1651 Posi*Lock Yam Rap700 (fits Durablue Eliminator only)-3 pc

20-1651s Posi*Lock Yam Rap700 (fits Durablue Eliminator only)-3 pc-steel

4115 SpacersEZ 4x115mm-2.5 rear

4156f SpacersEZ 4x156mm-1.5 front

gl155f SpacersGL 4x156mm-1.5 front

gl115 SpacersGL 4x115mm-2.5 rear


	Sheet1

